N & 0l & AF & F Al A

SN DSBHD
HE: DS oM U DSTAN =Y

Sl Y FRMSS(FAZSYSLHH) (sl &2

SH-HH . G(BH) - NRAY - BES Off &F oA JEe HRZ2

DEHI] 5,050,000 4,410,000 640,000

DS oF L DEIN =HY 5,047,000 4,410,000 637,000

=Y FYVLS(FAR2YSHA) 403,361 378,361 25,000

=Y =L o 403,361 378,361 25,000

201 L2 239,081 214,081 25,000

01 AR eIl 53,940 48,940 5,000

mEEETES=1 33,500 28,500 5,000

O OjElol2E7Y 222 o4 5,000,000%! 5,000 0 5,000

2 22| 185, 141 165, 141 20,000

0 zze2 2 HAl 115,231 95,231 20,000

O MBIE Ha42 20,000,008 * 14} 20,000 0 20,000

EXAIL OIHIHI(FRB2YSEH) 3,434,192 2,822,192 612,000

I 3,434,192 2,822,192 612,000

801 0fIHIH] 3,434,192 2,819,192 615,000

01 0lIbl 3,434,192 2,819,192 615,000

O =X &% 2% oyl 24T 134,192,0002 134,192 119,192 15,000

BES LT 23 3,300,000,000% 3,300,000 2,700,000 600,000

802 Bre=2I|Et 0 3,000 A3,000

038 UhREBES 0 3,000 A3,000

0 SYFME +e22 %3 23 o 0 3,000 A3,000

WeHS(REHFD) 3,000 0 3,000

SENE(FARSLEN) (FRESASLSH) 3,000 0 3,000

SENE(FAESEIH) 3,000 0 3,000
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